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The figures in the margin indicate full marks

for the questions.

Answer any ftve q estions.

l. (a) Identifr the problems that would arise if
someone tries to develop a large software
product without using software engineering
principles. 10

(b) Identi$ at least three basic characteristics

that differentiate a simple program from a
software product.

(c) Briefly discuss about software crisis.

5

5
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2. (a) With a clear diagram discuss about classical

waterfall model. l0

'Why classical waterfall model can be

considered impractical and cannot be used

in real projects ? 5

Briefly discus how iterative waterfall model

can overcome the disadvantages of classical

waterfall model.

J. (a) Discuss about the computation of function
point metric. l0

(b) What are the different techniques used for
project estimation ? Briefly discruss any one

of them. 3+7

(a) Let us consider the following C program'

main( )

{
int a, b, c, result ;

scznf("%od o/od o/od", &n, &b' &c) ;

result:a+b-c;
printf ("result : %d* , result) ;

I
Compute estimated length and volume using

Halstead's metric.

(b)

k)

4.
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(b) What are the advantages of democratic team

over chief Programmar team ? 5

5.

(c) Identifu the properties of a good

engineer.
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Consider the following case study :

A hotel has a certain number of rooms' The rooms

may be either single or double bed type' The room

types are standard, delux. Hotel manager is

responsible for deciding the room rates' Room

rates may be changed by the manager based on

the ociupancy rate. Customer can register

themselves by providing their details and the

registration fees. A registered customer can book

the room online. However guest customer (those

who are not registered) can come to the hotel and

book a room. This booking is done by the hotel

manager. Create a suitable SRS for the above hotel'

15

@ Briefly discuss about cohesion and coupling'

(a) Identiff the different problems of DFD' 5

software
5

Contd.
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(b) 
I,nm#:.:;'f#%ffse 

studY ror

To withdraw cash' customer Ofj:tn-:"l:""

*"n n[ *tU in the machine' lf the carc ts

invalid the card is ejected along' with"a

..rrur.. tf the cardois va[:;lrljl:
customer is PromPtet

;il';;J;d is invatid an elror t"Yl:

';hlili$:Jt"f,::'i:-'J'J;11

il:l'"'T:ffi:lT''ru;';J';"* :'.1:
enters correct password then he 

'g:t :T
;';;' ;; "Y T::il", ;.1"J"'Iiffil;
lf he enters an am

"t 
*t' i*' then he is prompted to ente:'1l:

amount again' After he tntt" an arnou|:tllat

is muttiple of Rs' 100 the cash is dispenseo

utong *ith a ffansaction sliP'

Create a decisron tree and decision "Ot;t;t:;
it'" uuou" case study'

7 (a)'Jl["T:,[:ff?:ffi::::ractuox 1f

5
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@ |1*rt u CFG for the function mentionedbelow

int fact (int n)
tt'

int i, r = !, result;
if(r==0lln==t)

result = I ;
else

{

for (i = l; i < = n; i++)
r _ r * i;

result = 7 ;

retum (result);
)

Compub Maccabe's cyclomati. 
"Wr"lr;V;'t1-J

----.-r-
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